Heterotroph Hypothesis
(the theory of how life began on earth)
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The first environment didn’t have __________, the temperature was _____ and everything there was __________________.





After Lightning struck, everything became _______________, we now had _________    ____________, ________________, and ___________________________.





All of these ____________________ molecules formed clusters that we call __________________.





There ________________ began to absorb, or take in other organisms, so we called them _______________________ (because they began to ingest (eat) each other)





At this point we consider these things ALIVE....


Once the _____________________ grew too big, they had no choice but to _____________________ (a.k.a.  Split)





Up to this point all of the respiration that was done was to make energy _______________________ (a.k.a. fermentation - -no oxygen)





Because of the CO2 that was being released, ______________________ began to develop (remember these are organisms that take in CO2 and make their own food through _____________________) and they gave off __________________





Now, _________________ respiration could take place (because we have O2) so organisms can make more ATP (_____________)








